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Java C#
k=1, k=1,
num = 0; num = 0,
for(i=1;i<5;i++) for(i=1;i<5;i++)
{ {
X = input.nextint(); X = int.Parse(Console.ReadLing());
if (x%2==0) if (x%2==0)
num = (num * 10) + X; num = (num * 10) + X;
else else
{ {
k=k* 10; k=k* 10;
num = num + (x * k); num = num + (x * K);
} }
} }
System.out.printin (num); Console.WriteLine (num);
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Java

num = input.nextint();

sum = 0,

count = 0;

while (num > 0)

{
sum = sum + num;
count = count + 1,
num = input.nextint();

}
System.out.println ((double)sum/num);

C#

num = = int.Parse(Console.ReadL ine());
sum =0,

count =0;
while (num > 0)
{

sum = sum + num;
count = count + 1;
num = = int.Parse(Console.ReadLine());

}
Console.WriteLine ((double)sum/num);
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Java/ C#
static int check(int a, int b)
{
if(b—a > 5)
return 1;
else

return O;

)
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Java

X = check (6, 2);
System.out.println (x);

a=2
b=8§;
System.out.printin (check);

m=7,
for(i=1;i<4;i++)
System.out.printin (check(i,m));

C#

X = check (6, 2);
Console.WriteLine (x);

a=2,
b=8;
Console.WriteLine (check);

m=7,
for(i=1;i<4;i++)
Console.WriteLine (check(i,m));
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Java
count = (;
for(i=0:1i<n;i++)

{
if (a[i] = (bli*2]+b[ix2+1])

ali] = -1
else
count = count +1;

}
System.out.printin (n - count);
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C#

count = (O
0;i <n;i++)

for (i =

{
if (a[i] != (b[i*2]+b[i* 2+1]))

afi] = -1;
else
count = count+1;

}
Console.WriteLine(n - count);
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